—— Instruction Manual — m

TB300 g

Customer Service
Portable Tetherball Set (800) 2477668

A 1 |Base G 3 |3/8" Nyloc Nut

B 1 |Pole H 6 ]3/8"X 1" Hex Bolt

C 1 | Pole Socket I 1 ]3/8"X 3" Hex Bolt

D 2 | Wheel J 1 | Sliding Game Attachment Collar
E 2 ]3/8" X 2 1/2" Full Threaded Hex Bolt K 1 | Tetherball

F 2 ]3/8" Jam Nut L 1 | Carabiner

¢ Inspect all contents prior to installation. Report any missing parts to dealer immediately.

1.  Usethe 3/8” X 2 1/2" Full Threaded Hex Bolts (E), 3/8" Jam Nuts <
(F) and 3/8" Nyloc Nuts (G) to install Wheels (D) onto Base (A).

2. Use four 3/8" X 1" Hex Bolts (H) to attach Pole Socket (C) onto
Base (A).

3. Insert Pole (B) into Pole Socket (C). Use the 3/8" X 3" Hex Bolt
(D) and 3/8" Nyloc Nut (G) to attach Pole (B) to Pole Socket (C).

4. Install two 3/8" X 1" Hex Bolts (H) into Pole Socket (C), tighten

against Pole (B) to eliminate Pole (B) wobble.
5. Use Carabiner (L) to attach Tetherball (K) to the Sliding Game

Attachment Collar (J)

Warning!
Do not let children move unit as injury may occur

Date: 02/20/2019 Rev: 1 B.A. N.J.C. File: TB300 Ref#: 930892

1




